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For if the slaughtering lasts from the beginning to the end, as soon as
he slaughters a little, etc.

Overview

The X n3 attempts to prove that 71027 XOX 7w WY PR, that the act of 7w nw is
accomplished only at the end of the fvnw, for if the 7w nWw lasts the entire duration
of the nv nw, why should one be ' "7 211 when the was 7912 P21 WMWY, since once
the 1 nw process started and the animal became MoX (because of 771va 1°910), he is
no longer UMW the owner’s animal. NM201N explains why we cannot derive the same
conclusion from a simple case of 771v2a 1711, without getting involved in 'm '7.

mooIN anticipates a difficulty:
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The %713 could not have challenged (the view that 710 791 7%°1nn 7w RYH "1w°) from

the fact that the 71710 holds one liable for 791¥2 19937 and v "¥IM, by asking -
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If 70 727 779omnn uonw® mIws, so as soon as he was v a bit, the animal became
prohibited (and 7X172 MOX) and the remainder of the 7 nw should be considered

as if he is merely cutting earth, and if 7,10 71 72°’1n» TV NWS "W, there was not a complete
710°K2 7Y nw, so why is he 271 -
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Even though that we cannot say that he is liable for that initial slight 70 nw, as I

will shortly explain, but rather the 211 comes for the entire 70w, which seemingly is only
Xn7¥2 19y Jnnn, so why is he 2>°1, this should seemingly prove that 71027 XX 70 1WY X -

nvoIN responds:
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For since (in the case of 11 >0I7Ww or 771¥2 Wwnwiw 1°2117) there is no other invalid

!'When an act of mo°nw, which has legal ramifications, is required; does this mean that the entire 0w process from
the beginning till the end is included (770 ¥ A%nNA TVNW? 7Iw°), or is it only the final moment of mwnw that is
pertinent regarding the legal consequences (71027 XoX [0 NW? PR).
2 One is not permitted to be 1271 VMW in the 771V and similarly one may not be N1137p VMW outside the ATY.
3 mooin is anticipating a possible response, even if we maintain 710 71 72°1NA AVNW? MW, nevertheless as soon as he
is XN v he is 21, which would seemingly refute the proof that 71027 XX 7w nw? PR. This notion is rejected by
mooin
4 See following *3 "7 '01N.
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act there, except for Y7 suw, so therefore we can say that the 71910 holds one

liable even in this manner® -
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However, when there exists another invalid act (such as 1721 213) together with
71 vInw, we should then exempt him (from ' '7) even according to the one who

maintains m7% 7YY 772TNR TUTRD IR -
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Since at the end of the ;v nw, he is merely cutting earth.

Summary
There can be no proof that 71027 X7X 7w WY PR from the 17 of Y "vIW or PN

171y2, for there the 7710 decreed that it 1s forbidden (even) in this manner.

Thinking it over

moon writes that when there are two 0°709, then he should be exempt even
according to the M0 73 72°nnNn "YNwY M 7'n.8 Seemingly the word 12°5X (even) is
inappropriate, since the whole discussing here is only according to the [Iw> 7"n
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> We can maintain that M0 71 7200 munw 7w, and nevertheless even though once the process of Y117 "0 began
he is only 15¥2 0, he is still 21, for this is what the 7710 forbade; it is a 210377 N7, otherwise, there can be no MoK
of v v (if we maintain M0 7Y 72NN ATV 71Y).
® However, when there are two 07109 together, for instance 771v2 12117 and '™ '7 277, so even though he will be 2»n
for 7va 191 (see footnote # 5), but how can he be 211 for ' "7, since he is not slaughtering the owner’s animal,
rather he is X2¥2 79v2 7nm» (and the 211 of "M '7 can be in all other cases [except for 7 0w and 77Tv2 P91)).
7 See “Thinking it over’.
8 See footnote # 7.
9 See (1K) X"wWAnA.
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